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Questionl Learn+Work Together

Jd

number of seedlings in 6 rows. How
many seedlings go in each row?

_Salem bought 300 seedlings for his e Aol ) Ay Adiaal AE 300 ?31“ & i)
i garden. He wants to plant an equal CMEAY 3 S i gia 6 b CNEAY (e glsia

i‘ 1| ||| A VAN N
> || PART 1

= | Circle the letter Total mark(60)

¥ | corresponding to the 4 marks each

' Answer

O 1 Divide Multiples of 10, 100, and 1,000s Learn+Work Together 208

! (1-9)

i

5

S0

500

5000

Question1

Question1

1.What is the quotient?

2.What is the quotient?

36tens + 9 = tens 48 hundreds + 6=~ hundreds
Al |4 A |8
B| | 40 B| | 80
C| | 400 C| [ 800
D | 4000 D | 8000
Question1 Questionl

3. What is the quotient? 4. What is the quotient?
1,800 % 3 = -----—--------- 35,000+ 5=7?

O Caameil O IR A RN O _Winl 0 4y (2 YAl O Iyl _O I}

Al | 6 A |70

{ B| | 60 B| | 700
C| | 600 Cl | 7,000
D | 6000 D/ | 70,000

< Mils i1~ |

im 1> Ay oS el o7 jin >~ 1 Hill ol

=~
|

SR\ '\ T/

~
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N U ()  JIRL O JUR () AV A IR () Il Yy MRl
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Questionl

Questionl

What is the quotient?

What is the quotient?

560 + 7 = ---------m----- 360 +4 = —----mmmmee-
Al |8 A |9
B | 80 B | 90
C| | 800 Cl | 900
D | 8,000 D | 9,000
Questionl Jigd

" A bus travels 3,000 miles in 5 days. It
travels the same distance each day. How

ki gy i 5 (b (e 3000 Adlws Alblal) adalii|,
(o ABBAY) Lgadali ) Adlisal) & La 99 JS Adlicalf

far does the bus travels in one day? faalgas|
All®6
B | |60
C 1600
D | | 6,000
Question1 1L Jd

A school orders 420 math textbooks. The
textbooks arrive in 6 boxes with an equal
number of books in each box. How many
books are in each box?

G e gludia 23y (Bailiia B (A A yaal) i)
Q

YOsdba JS 8 S e oS (G g0ba JS

All|7
B| |70
C 700
D1 | 7,000
Questionl iM Jsd

Naomi reads the same number of pages
each day. After 8 days she has read 320
Jages. How many pages does she read

each day?

Al 8 amys a0 S Claiiall dae (il a2 | i
€25 IS T dadia oS daiia 320 @i 8

Al 4

40

B
C | | 400
D




Estimate Quotients

|| B ||| A VAR R g

Learn+Work Together l

(1-11)

Question2

Learn+Work Together

Jd

A Hardware store owner is putting

she divides the nuts equally in to 6
boxes and the bolts equally into 7

in each boxes?

nuts and bolts in to separate boxes.

boxes. About how many bolts will go

SR\ '\ T/

Lsall g Jal gocall g 53 8 3¢ Y) Jaie uabua o gy
Jal gual) apeaty caald Aliaiial) Gualial) b

7 o) il saabewall g (Gaalia 6 A (5 gbuilly
JS (B il gia (Al Gy g8 pialss 238 oS Gaalia
¢, gl

—
a

30

50

300

ol

500

561 nuts 3,358 bolts

Questionl

Learn+Work Together

Jpd

A Hardware store owner is putting
nuts and bolts in to separate boxes.
she divides the nuts equally in to 6
boxes and the bolts equally in to 7
boxes. About how many nuts will go
in each boxes?

saball g Jaal gual) g5 8 3gaY) jaia qala a iy
Jaa) paall anidiy Cald Aladial) gualial)

7 ) il sabaall g (323Ua 6 (A (s sbedlly |,
JS (A ol g (Al Ly 85 Jaa) e 238 a8 Gl

80

90

800

ol

900

561 nuts 3,358 bolts

Question2

Question2

1. Estimate the quotient.
342 + 8=

N 0 TR R R P N3 5 R 7 RS

2. Estimate the quotient.
836+9

Al | 20

60

30

70

80

B
1C[[40
D | 60

90

Q. aameil 9 IR A RN O _Winl 0 14y (2 YAl O IR _O Iyl A Uil Q2 /IS U

ZA | |nlll || I
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N



—~—e—

e iy £ Uiy

A ERVAE B -

=~

—
7

Question2

Question2

3.Estimate product

12,134 +7=
‘1 Al| 30
B| | 300
C| | 500
D | 304 R5
Question2

4.Estimate product
5,361+ 6
Al | 90
Bl | 870 R1
C| | 900
D | 1000
Question2

DN (]| |\

5.How can you estimate a range for
the quotient?

749 + 8

6.How can you estimate a range for .1

the quotient?
522 +7

Al | 90 to 100

Al | 60 to 70

80 to90

70 to 80

70 to 80

80 to 90

B
C
D | 60 to 70

B
C
D | 90 to 100

Question2

Question2

7.How can you estimate a range for
the quotient?

8.How can you estimate a range for
the quotient?

3,297 = 8 6428+7
A| | 400 to500 Al | 500 to 600
B| | 500 to 600 B| | 600 to 700
I ¢ | 600 to 700 c| | 700 to 800
D| | 700 to 800 p| | 800 to 900
Question2 Jsd

A class collected 323 cans for recycling. They
can place only 7 cans in each bag. About how
many bags will the class need for their cans?

agSay | gail) Baley Ayle 323 aany Jual ol
LS 2 ga La S S B Ll Qe 7 auag
Sagalal Ly A5 Juadll aliagw Al

5

50

O (ARl O [IIRW A AR O _NIB O AV () WAl O NIl O &l
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< M i (~c Jiim 16 anml oS ik -1 ML >0 Wi o Juil
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Question2

|

. Jeremy scored a total of 6,128 points playing

video games. If he scored about the same
number of points in each of his 9 games, about

L how many points did he score in each game?

lall qual oL Akl 6128 Mad) raid S

Cva 81z S b G 6 B 330 (i o 13 o0

60

70

700

DN (]| |\

800

Question2

Jid

The bowling alley had 397 bowlers over the
weekend. There were about 5 bowlers for each
lane rental. About how many lane rentals did
they have for the weekend?

4l ke A LeY 397 midgd Ala A s
J9 pil gl oY 5 N ga dlia GlS g )
W g abicd Al Cllual) 2 9 Lo 3 jaliun 3

Q&MY\ Aol Alkaad Uy 8

8

80

79

79 R2

Find Equal Shares

Learn+Work Together 216

(1-10) 2178218

Questionl

Learn+Work Together

Jid

Shannon uses 52 beads to make 4 bracelets.
Each bracelet has the same number of beads.
How many beads are in each bracelet?

aS LCAN e Ludl o ) g JS (5 siag
?J\Judsgéﬂ\jﬂ\ e

bl 4 aian 334 52 ¢ il andiny |

N U () IR O JUR () AL A IR () Tl MRl 8\l
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13

14
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Learn+Work Together 216

3 Find Equal Shares

(1-10) 217&218

Question3 Question3

1. 12 counters are shared equally into||2. How can you solve the problem?
3 groups. 25 counters are shared equally into 5
groups. There are-----------------
counters in each group.

There are ------- counters in each group.
How can you solve the problem?

DN (]| |\

Question3 Question3

3. How can you solve the problem? 4. How can you solve the problem?
49 + 7 =-------- 39 + 3 =--------

11
12
13
14

ClO|®|>

o0 |w|>

(ol Kool N R Fo)]

Question3 Question3

5. How can you solve the problem? 6. How can you solve the problem?
66 + 6 =------ 75+ 5 =c-mmme-

N U () IR O JUR () AL A IR () Tl MRl 8\l

Al | 10 Al| 13
|B|| 11 Bl | 14
cl|12 cl |15
D] 13 D | 16

O Caameil O IR A RN O _Winl 0 4y (2 YAl O Iyl _O I}
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O Question3 Jid -
! 7.bThere are 91 students in the schoo{ chorus.| 7 L. uall ailé o A yaall LB L 91 llia g
BY | Jov. How many tows of students are tere? Bl ghe e 6 ha g5 A 3 | S
! 1TA[[12 ,'
| [2]]1s i
&) €| |14 =
4P| [15 \
! ' Question3 Jsd !
B o suents caly hare S e s | v 6 s 5y |
! receive? - fals 8 gl Juany A sl ghilha 30 !
! All17 | !
Y1816 u
0 |EHREL L
/P |14 I
= Question3 Jipd ] =
i 9.Sasha scores 96 points in 6 games of Ll Al 3 <1 by jle 6 (o4 4dass 96 Lila Ja ' i
~F | basketball. She scores the same number of Lladl axe oS 35l JS 8 Llall e s Jasi | g
! points in each game. How many points does ol e JS o Lila ) _._
=4\| she score in each game? ) ) -
2] 1a -
I [CNEE: I
=/ € | | 16 E
DI ' !
,. . Question3 Jd —
=4| | 10. Raul uses 72 nails to build 3 drawers. He axdiey =)0l 3 el 1 lana 72 Jis3l ) paiiu =
' | | uses the same.number of nails for each drawer. G pebaall e oS 5y S );ML.MJ.\ 2 ws; '
- How many nails does he use for each drawer? € 30 JS 8 Leadiiiy \
j JENEEY i
5 18] 22 B
n (RS "
: ‘ D | |.24 5 Dme |.‘
< s (il 1~ JUW 1o ff oS JWh o Bl > B o Jlil ™
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Divide 4-Digit Dividends by 1-
Digit Divisors

Learn+Work Together

(1-8)

Question4

Learn+Work Together

How can you use partial quotients to solve the problem?
216 +

9 =?

23

24

33

34

Question4

1.How can you use partial quotients
to solve the problem?

136-8="7

Question4

16

2.How can you use partial quotients
to solve the problem?

114+-6=7

17

17

18

18

19

19

20

Question4

Question4

3. What is the quotient?
115+5="7

4.What is the quotient?
105+3="7

23

24

24

25

33

34

34

35

Question4

Question4

i I5. What is the quotient?

154 = 7=?

6. What is the quotient?
342 +9=?

22

36

23

37

32

38

34

39

ZA ||l || I N r..m.umul-"-mnmn ”‘Il\
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4 Divide 4-Digit Dividends by 1- | Learn+Work Together 224
Digit Divisors (1-8) 225
Question4 Jgd
{ 7.Will stacked 135 quarters. He put 9
quarters into each stack. How many stacks
did he make?
All14
Bll1s5
1€ |16
Dl]17
Question4 Jigd

8.Jeremy put 256 baseball cards into 8
binders. Each binder had the same number
of baseball cards. How many baseball cards
were in each binder?

lilae 8 (A J gaa A8y 256 (par > o
aS . saenal) iy (e aaad) Ll Al JSI (S

il JS A 839 gall J gaeul) Cilblay 230

Al|23
Bl |24
Cl|32
D142
5 Equivalent Fractions Learn+Work Together 4
(1-8),6,7,8 5826
Question5 Question5
Which fraction is equivalent to g ? Which fraction is equivalent to % ?
A 1 A 1
2 2
B 1 B 2
' 4 4
| c 2 c| 2
. 4 6
D 1 D 4
8 12




Question 5

Question 5

Which fraction is equivalent to § ?

Which fraction is equivalent to % ?

A 1 A 2
4 5
B 2 B 3
6 5
C 3 C 4
5 5
D| 3 D| 3
6 12

Question 5

Question 5

Use the representation to find the missing
number in the equivalent fractions.

Use the representation to find the missing
number in the equivalent fractions.

2 _
4~ 8 3 L
_ 12 6
< 1 ® | —
0 1
A 2 A 3
B 4 B 4
C 6 C 5
D| 8 D 7
Question 5 Question 5

7 .Kathy lives % mile from the park. Charles

lives % mile from the park. Do they live the
same distance from the park? Explain

8.Faye and Omar ate the same amount of a
small quesadilla. Faye’s quesadilla was cut
into 4 pieces and Omar’s was cut into 8
pieces. How many pieces might they each
have eaten? Explain your reasoning
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Wthh fractions are equivalent Question 5

to g? Choose all that apply. Which fraction is equivalent to % ?

A

71V I
- D

1
- B

Question 5

Which fraction are equivalent to
the point on in the number line ?

Choose all that apply
t t —® t >
1
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Generate Equivalent Fractions
using Models

Question6

Learn+Work Together

(1-8)

Question6

What fraction is missing from the pattern?

3

4

6 _

_ ? 12
=g =

216

Use the representation to find an equivalent
fraction.

Question6

Use the representation to
find an equivalent fraction.

ZA|wll| || I I (I | e | (e

Question6

Use the representation to
find an equivalent fraction.

SRR RS

|
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Question6

Question6

IR (VN 0 N O |-‘I! "ll'

—e——

"Use the representation to find an

equivalent fraction.

Find the missing number in the

equivalent fraction.

10

Question6

Question6

Find the missing number in the
equivalent fraction. 5 75

2=

Find the missing number in the
equivalent fraction.

14 _
12~

9

12

Question6

Find the missing number in the
equivalent fraction.
12

9
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Generate Equivalent Fractions | Learn+Work Together

using Models (1-8)

[\ Iy
—

Question 7 Learn+Work Together

How can you use benchmark numbers to

2 4
= -7
compare 10 and -

How can you compare the fractions using benchmark numbers?
Write >, <, or = to record the comparison.

0% 2 0%
6 10 N 12 8
L O 7
3 8
Question 7 Question 7

5.Which fractions are greater 6.Which fractions are greater
7 5
than —-? Choose all that apply. than —? Choose all that apply.

N U () IR O JUR () AL A IR () Tl MRl 8\l
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Questlon 7 Q.uestlon. L -
8.Ron is comparing two fractions. He
7.0scar ran E mile on Tuesday says he knows which fraction is greater

and % mile on Thursday. On by comparing them to benchmark

‘| which day did Oscar run a greater || fraction % What two fractions could
distance? be comparing?
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Understand Decomposing | Learn+Work Together

Fractions (1-8)

Question 8 Learn+Work Together
How can you decompose % into a sum “
of three fractions two different ways? —
Write equations to show your work. | r3 ﬂ all'al’a
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8 Understand Decomposing | Learn+Work Together 34
Fractions (1-8) 35836
Question 8 | Question 8
" 5 . 4' .
How can you decompose the A into How can you decompose the : into
unit fractions? unit fractions?
1 2 2 1 Al1 1 1 1
A e S s —+-+-+=
6 66T s sTs5tsts
Bl|1 2,1 1
B 1,1,1,1.1 o e
s Tt s e ts 5 5 5 5 .
1_2 "
cl|1,1,2
Cl| 1,1,1,2 57575 :
6 6 6 6
6 6 6
Question 8 Question 8
12, . 9, .
Decompose - into a sum of 5 fractions. || Decompose . into a sum of 3 fractions. :
Use the number line to justify your answer. Use the number line to justify your answer.
FEEEEEEEEEEEEY NI WM
8 8 8 8 8 8 8 8 8 8 8 8B & ®© @& & & ® ® ®© B
A 1 1 4 4 Al1 1.1 1 1
g R = = R R
st s s s PP
B 1+§+i+i B 1+E+§+§
8 8 8 8 stetsTe
Cl[1, 61, 3 4 C 3 3 3
R T 24242
8 8 8 s TeTe .
Dl 224347 D 2,343
8 8 8 8 cteTe
Question8 Jsd
*How can you decompose 1—0 into a sum of 4 fractions?
A 1 3 3 C 1 1 . 1 2 2 ’
— =+ = —t—t =+ =4 =
10710 10 0710 10 10 10
B 1 2 1 2 1,2,2,2 .
ST T D TRETRETRET)




: ¢ 3l e GBS juaall
\ frespond to Macie? - e e 2 s 2SS juaal

1
a bottle

1
a bottle

D

i‘ Y [ | < Uie [ o SE \/ [MUN Q | ROV S | NN D I 2
4 e e S ——— N— (] . (
. ’ Question8 Jsd . A
! Tricia has % of a breakfast casserole left over. She ;@-"3 (i) Uiy Gak e 12/9 L 5 sl !
= Al Galall ¢ 3 L il 3 8 ulall s =
; puts the casserole into 3 containers. What fraction ¢ Vfﬁ dsﬁ ’tw T 3“;} ‘yu“ @T; :
~ . of the casserole could Tricia have put into each i o R © e =
' + container? '
C 11 2 2 _ 3 HC
A —_—t =+ —+ =+ —
l 1,.3,3 c 0770 10 10 10 l
= ' 12 12 12 =
= I 3,3,3 D | 1,2,3,3 =
l 12 12 12 10 10 10 10 ’
._ Question8| Question 8 . !
=3\ Amy decomposes a fraction into a sum . - =
i of fractions. What fraction could Amy A family of 4 ate 1z of alasagna. How | i
X | have decomposed? || _> 1, 2 much lasagna could each person have -
I (] & & 8 eaten? i
—_ c
= (i 3 Al L 2,23 =
. 3 12 12 12 12 [ |
! f B 1 + =+ =+ = d !
i 3 12 12 12 i
e 5 C 1.2 2 3 ‘X
h — 4 ===
! 3 TRETRRTREY !
8 i
i 9 Understand Decomposing | Learn+Work Together 38 i
i ] Fractions (1-11) 39840 i
= Question9 Learn+Work Together Jisd =
— ) - N =
' Macie says if she combines the juice into one bottle, dala) b omandl CGmea 13 ) il J85 ) ‘
.1 she will have a total of % bottle of juice. How can you| &= #1200 2/1 Juea) Lol () 5Sd 3aal N
e
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Question 9

O-
=

B A

Question 9

How can you find the sum ?

5 57

Aaron used a number line to find the sum of three erCthﬂS

Pl
«

0
What fractions did Aaron add? What is the sum?

L,

>
\

1

A

Uil U1 [ (@1l W | G N

Question 9

5 2

2

12

3

o=

How can you find the sum? Use the
fraction model to represent the equation.
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Question 9

How can you find the sum?

2

8

5_
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001 N oo [0l B | RI W

Question9

How can you find the sum?
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Question 9

—
—7

Questlon 9

How can you find the sum ?

1 _ 1
T+ a=1

Hank combines E gallon of red paint with

% gallon of white paint to make pink paint
How much pink paint does Hank have?

A 10
12

Bl| 11
12

DN (]| |\

12
12

O] Wi w | BIN[B]=

11
24

Question9

Jd

Error Analysis A student wrote %

+ % = % How do you respond to the student?

Question 9

Question 9

How can you find the sum ? Use the

2,2 ,2
5T5*T5=

number line to represent the equation.

How can you find the sum ? Use the
number line to represent the equation.
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3 2
z2+t72=
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Question9

|

Jd

Before school, it snowed % inch. During school, it

snowed % inch. After school, it snowed g inch. How

Ay 8/3 U, - B il A yaall Ji
Aans 8/2 AU, 7 B bl A jaal) oL
oS a5 8/5 A4S, & GBI el A jaall 2ey

DN (]| |\

much did it snow? Oz sBll bl
A 3 2 5 9
—t =+t === C i+£+i=2
12 12 12 12 12 > 12 12
3+2+5_10 D i+i+i:2
12 12 12 36 12 12 12 12

Subtract Fractions with Like

Learn+Work Together

50

Denominators

(1-10) 51

Question10

Learn+Work Together

Jid

Ryan has gcup of rice. Rita has g cup of rice.

Who has more rice? How much more? Use
representations to explain your answer.

Lgal Uy L 3N (e 158 816 4l )
Oa el dgal a3V (e S 814
7 40 COLa aadiu) ¢ JiSi aS €5 Y

i),

Question10|

Jd

° .7 .
1.Henry’s home is Emlle from school. He

stops at the library on his way home. The
library is gmile from the school. How much

farther does Henry need to travel to get
home? Use the number line to find the
different .\

G Cald 21/7 Ll ¢ glas o) 330 I8

@A Gl AN Hlaie L o) 3l e 21/5 Dlgiuly
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Question1 '
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D. A tank was — fuII of water. Camryn drained — of

the tank. How much of the tank is still filled with
water? Use the number line to find the difference.

S Gl 21/7 elall ¢ slas o) AN OIS

G O3RN el AN (e 21/5 iy

|
T

3

8
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4
8

—
sz
8 8

slagy alac Y bad aadiial Seldl 12 slas JI 30 Y
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Question 10

|
0[N
|

10

What is the difference?

Question 10

What is the difference?

4.

O OO |0 NN W[ N| wo

Question 10

Question 10

What is the difference?

9
5. 6

4
6

What is the difference?
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Question 10

‘'What fraction are you taking away?

8 _J_6
10 ~ 10

7.

Question 10

([T 111" ||| 2| VA - |-‘I! "ll'

2
10

_What fraction are you taking away?

8.

SR\ '\ T/

3
10

A

—
a

7
10

14
10

Question 10

What fraction are you taking away?

Question 10

What fraction are you taking away?

—_4
1 12

U1 o (U] W[V N[UT] =

Understand Decomposing
Mixed Numbers

Learn+Work Together 68

(1-6),7,12 69895

N U ()  JIRL O JUR () AV A IR () Il Yy MRl

* decomposition.

How can you decompose 2%? Write an equation to show the
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Question 11

B an | A YA .

How can you decompose the mixed number?
Write equations to represent the decomposition.

Question 11 Y

N

=~
-

How can you decompose t
Writze equations to represent the decomposition.

e mixed number?

) -
2 s Ml 1° |

3
] 3
A 1+2+_ A 3+1
> 3 3
5 5 3 1 2 1
B —+ 4= B —+§+—+—
5 5 5 3 3 3 3
2 5 3
C —+ =4+ = C l+1+1+l
5 5 5 3 3 3 3
1 5 3
D 1+1+ -+ = 1,1, 1,11
5 5 3 3 3 3 3

Question 11

Question 11

How can you decompose the mixed number?
Write equations to represent the decomposition.

How can you decompose the mixed number?
Write equations to represent the decomposition.

1
- 2=
34 2
1 1
A 3+ 4+ = 2 z+l
4 4 2 2
1 B[z 2 1
Bl 141+ 1 +2 S 4= 4=
4 2 2 2
1 1 1 1
c 1+1+f+é c g S T
4 4 4 4 2 2 2 2
1 2 1
D|1,4 4 4.4 D1,z _1
4 4 4 4 4 2 2 2

Question 11

Question 11

What fraction is equivalent
to 527

2,2,2,2

. . 2 1
6. Linda decomposed a mixed number as 2 +3 +§ +5+5 +5. I

a. What mixed number did Linda decompose?

N URBIE () JIRL 8 JUR () AUL A JEI () el Al X I/ O
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Question 11

Question 11

2.2,2 .1
5+5+3+5

b. What is another way Linda could decompose the
mixed number?

6. Linda decomposed a mixed number as % - % +

7. How can you decompose 3%?
Choose all that apply. (Lesson 10-1

] 1 7
B ] B. 2+1+2
2+24+1+ 2 .
C. 3+ Y
C 2 2 2 1
2 2°32"3 o AL B
D S 12 12 4 " 4747 4
1+1+ -+ = 3,3
z 2 E. 212
Question 11
12. What mixed number is equivalent
5.3 .68
to g + g + g + 57 Choose the
correct answer. (Lesson 10-1
1
A. 1§
4
B 15-
1
C. 2§
4
D 22;
12 Represent Adding Mixed Learn+Work TegSther 72
Numbers (1-11) 74
Question12| Learn+Work Together I

Kyle rode his bike 2 % miles in the morning and

1 g miles in the afternoon. How far did Kyle ride
during the day? Use the number line to represent

- PR PSSR S U (S S SR S RS S S S W T S
- T T T

) —— I
O 1 2 3 -1 5

-

Clall & Jaa 5/3 2 43 8 s @
Lo, gdal) day La 3 538 (8 Jia 5/4 1

¢ L Gl Lgadad ) dBLicall
Leda g Al Jfiail dlacY) ok andiicd

C

w
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Question 12 Question 12
"What is the sum? R What is the sum?

71V I
—

2 2 _[ 14— 3,42
1. 1g+2§= ’ : 2 24+14—

w

| (U1 W
w

| 1]

w
w

N

o] w|vt
NN

B W] =R

-.‘-m".'n-r-nrn N URBIE () JIRL 8 JUR () AUL A JEI () el Al X I/ O

370

Question 12 Question 12
What is the sum? What is the sum?

9]}

|

3. 1=+1== : 5, .7 _ —
2712 4. 2g+ig= ‘

|

212
8

12
8
4_4-
8

4-4-
16

Question 12 Question 12
What is the sum? What is the sum?

2 3
6. 2€+1€
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7 Greg has 13 pounds of peaches. He buys & yisl -Cﬁﬂ Cwe aal g Jh o s 7 .
another 33 : pounds of peaches at the S el e g sall e s AT a1 4/3 3

 store. How many pounds of peaches does Greg oY) T oy é)ﬂ‘ e dhy
have now?

A 2
4=
4

62
4

Question| 12 Jsd

-.‘-m".'n-r-nrn N URBIE () JIRL 8 JUR () AUL A JEI () el Al X I/ O

.8.How can you use the fraction circles to find the sum of 1 % + 1 % ?

P O

2

6
5
6

Questionl 12 Jyd

9. Lynelle has a goal of walking 4 miles |  JS Js) 4 &8s pdal) g8 Jid i .9
each day. Yesterday she 2d8/5 2 ABlea Quadly b Lo g2
R bl 200 8/5 1 zluall

Tomally Lgdar Joid i, |-

walked 2 g miles in the morning and 1

% miles in the evening. Did Lynelle meet
her goal yesterday?
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Question 12

Jind

10.Tomika spent 1; hours working on her

science project this week. She spent 1% more

. hours reading than she did on her science
project. How many hours did she spend
reading this week?

e soda o Janll 3 Aolu3\2 1 S g5 Cuidaal
"Bl AN 8 Aclu3\] 1 Culaal A g guud) 13a alal)
il Aol oS | alal) g g pdia (B AL2B Laa JiSI"
9¢ sl 130 o) AN B

A 2 2
3 3
B 3 6
D| 4—
8
Question| 12 Jxd
11. The number line shows howNate solved an ————— \(p\{f\
addition problem involving mixed numbers. ' R v
What is the addition problem Nate solved? 0 1 5 . 8 3
10
A 5 3 8 5 3
1241328 cl2>+1=
10 10 10 10 10
B 5 3 8 5 3 2
1—+—=2— D1—+1—=8—
10 10 10 10 10 8 10
13 Represent Subtracting Mixed Numbers (1-9) 81
) Question 13 Question 13
What is the difference? What is the difference?
2 3 _—— 2_L1_| =
1. 43—31— 2. 33 23—
|
Al 3 1
5 3
/B[ 3 2
— B 1=
4 3
: 1 1
ICIPE |t
4 3
D 2 2
1-— D 5_
4 3
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Question 13 Question 13
What is the difference? What is the difference?

7 3 | 4
—_—— == 4. —_——=
3. 25-13 , 3—-3

e/
=%

SR\ '\ T/

—
a

DN (]| |\

’5
Question 13 Question 13
What is the difference? | || What is the difference?
4 .3 _|
5. 3 r 1==

4 5
6 | 6. 35—15—

..‘-m".'n-r-nrn N U ()  JIRL O JUR () AV A IR () Il Yy MRl

Questionl13 Jed

7.Stella and Darius go to the same school.
Stella’s house is 5 miles from the school.

Jite oy A paall (udi ) by (a3 12 9 Dbiaw,
. . 9. a5 08 J e oy A paall (a Jlal 5 2y e St
Darius’s house is 3 o miles from the school. Suiias (3 St 2 a2l (3o Jsal 01/9 3 0 e
_How much farther is Stella’s house from the ol Sl addia) S 30 08 Auaadl ce
school than Darius’s house? Use a sl
representation to justify your answer.

A 9
y J
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10
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Question13

B || A YA I g

—— e et R — e (

=
—

s. How can you use the fraction model to solve 2 % -1 %?

DN (]| |\

j—
N |

Question13

Jsd

How much time has Norman read so far?.

9. Norman has a goal to read 2 % hours this week.

2 ,
He has to read another 1 3 hours to reach his goal.

138 delu 3/1 2 5ol ciaa 4 layss 9
Jymasll s Al dolu 312 1 1k of 4o g st
SO A ey 18 gl (e aS Ada )

A

11
3

C

2

3

4

D

12
3

Represent Multiplication of a
unit fraction by whole

Learn+Work Together

(1-10)

Question14

Learn+Work Together Jsd

Tanya made 2 fruit pizzas. She uses % pound of

pineapple slices on each pizza. What is the total
weight of the pineapple slices on both pizzas?

8/1 adiicd A4S gh ) jin 2 Ll e
Lo )3 JS (8 ullY) i)y cya S
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Question 14

Question 14

71V I
: —1

What is the product?

What is the product?

0000

~ 3

3

4

18

18

Question 14

Question 14

What is the missing factor?

What is the missing factor?

||

10 10 10 10 10 10

=

] 7 X — =

v
FS .

10

70
15

L\ MY Q L Wil oL |}l |-'I! ”ll'

Question 14

1 How can you express the fraction as a

multiple of a unit fraction?
7
5. 3=

w
X

~
X

Question 14

How can you express the fraction as a
multiple of a unit fraction?

=Ux—

N
X

w
X
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Question 14

Question 14

What is the product? )
7. 8X5g=—

What is the product?

(@)
NI SEICIEIETES

(@)
$|\o\1|;\1|\o NTR-)

Question 14

Question 14

What is the product? [ What is the product?
l? 1 .
9. SX3=/= 10. 6 X ¢ ==
5 5
B|| 5 B z
3 5
Cl| 15 c| 5
3 6
D| 6 D| 8
3 30
15 Understand Multiplying Learn+Work Together 106
(1-7) 107
Question15 Learn+Work Together Jsd

school week??

Shawn walks % mile going to and from school
‘| each day. How far does Shawn walk in a 5-day

Oe GLl 5 Bad Shae 8/3 dilisa (58 ey
& 08 P s gl ) Lasm S Al

| A 15

< 1
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D 7
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Question 15 Question 15

" What is the product? Use the fraction || What is the product? Use the fractlon |
model to help solve? model to help solve?

Hiy | ®*®**®
2x|_|x == 4x‘_]x%=

Question 15 Question 15

| What is the product? Use the fraction What is the product? Use the fraction
model to help solve? model to help solve?

‘W i | SO i
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Question 15

What is the product? Complete the fraction model to help solve.

o
A

l 1 1 L
1 ! ! !
5 7 8 3
0 10 10 10

1
T
2
10

3~
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3|4
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Questlon 15 Question 15

What is the product? Use the fraction What is the product? Use the fraction
model to help solve? model to help solve?

71V I
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’ Part 2
LISNumber of FRQ (Written questions) 5 (16-20) Marks per(6-11)

16 Understand Remainders Learn+Work Together 228
(1-10) 229&230

AT T )| 7/ I 1 W 1) Y ), AR [P | V) AN (VI ™ | ) o\ | T/ AN

O-/

' Avery’s school purchased 7,220 books for the students. If each student
receives 6 books, how many books will be left over? Use the partial

quotients algorithm to solve the problem.

what is the quotient? Use the Partial quotients to solve.

2. 5044 +5=

2
41
504
—g(: (2 X 100) — 5,000 (5 % 1,000)
20 _40
7
1

(2 X 100)

(5% 8)

(2%X7)

What is the quotient and the remainder? Use partial quotients
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w7
Solve the problem. .

|

!‘

09 to buy cups. If each box of cups costs $9,

t has $6
8. Arestauran e? How much money

how many boxes can the restaurant purchas
will be left over?

SR\C '\ T/,

~
A

9. A party planner has 275 balloons for a party. How many tables
can he have with 6 balloons on each table? How many balloons .
will be left over?

7 RN NN I S IR S AN S T SRS

) 10. George has $20 and wants to buy snow cones for his friends.
The snow cones are $3 each. How many snow cones can he
buy? How much money will he have left?
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Learn+Work Together 20

N\ g kI

|1l

17 Other Ways to Compare
Factions (1-8) 21

11,12,13,14,15 27

Hannah ate % of a small apple. Her brother ate % of a large

apple. Hannah says she ate more than her brother because

3_9_ .97
3=pandyp 2w

How would you respond to Hannah?

A _hekewll o JUNEA N URBHE () MIRL 8 JUR () AUL A IBI () (el Al X\l O

Write >, <, or = to compare the fractions. Explain your reasoning for
each comparison.

3 8 2 1
1. '57@% 2 6@5
ioz EOQ
12 5 4 10

7. Russel and Toby each bought a medium box of popcorn. Russel

ate % of his popcorn and Toby ate g of his popcorn. Did

Russel eat more popcorn than Toby? Explain your reasoning.

O aameil IR A ARRL O Wit 0 14y (2 YAl _O Iyl _O _Iayl A Ul 2 /IS U
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8. Klaya compares two fractions. She writes one of the fractions as an
equivalent fraction so the fractions have like denominators. What
fractions might Klaya be comparing? Explain your reasoning.

|5 || an | A VAR N g

|

R\C '\ T/

~
a

11. Match each fraction to the
benchmark number it is
closest to. (Lesson 8-4)

Closestto O

Closest to %

Closest to 1

0N ol o= ulw 5|w BN

>, <, and =. (Lessons 8-4, 8-5)
3 ) 10

4 12
ZO&
6 5
ZOE
3 10

12. Complete the comparisons using|

13. Whicg fractions are greater
than §? Choose all that apply.
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. Tonya reads % of the book.
Christina reads = of the same

4
book.

Part A. Who read more of the book?
Explain your reasoning. (Lesson 8-5)

Part B. By the end of the following
week, Tonya read e of the book.
Christina did not have time to read
any more of the book. How does the
amount Tonya read compare to the
amount Christina read? Explain your
reasoning. (Lesson 8-5)
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15. Gilda plants tomatoes i2n % of her
garden and lettuce in 3 of her
garden. Did Gilda plant more
tomatoes or lettuce in her

garden? Explain your answer.
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a)Add Fractions with Like Denominators | Learn+Work Together
b)Represent Subtracting Fractions (1-11)

(1-11)

R\C '\ T/

e
a

‘ 6
What two fractions can you add to get a sum of E”
Use representations to explain your answer.

What is the sum? Create a representation to find the sum.

2 d J
A +z——

3 1
ts5= 2

L]
\a

What is the missing value? Complete the equation.

3.
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9. Anu has % meter of wire. She buys % meter more. How much
wire does Anu have now?
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- 10. James swims part of a mile using the freestyle stroke. He uses

the backstroke for% mile. If he swims % mile in all, how far did

James swim using the freestyle stroke?

11. A class sets a goal to collect money for a local charity. They

collect % of their goal the first week. fter the second week,

] they had collected 75 2 of the total goal. How much of their goal

did the class collect in the second week?

-.’-m".w-r-m'n SV [ ] /Y 1 ] A || Y 1) IO (V" | R\ '\ T/,
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1. The parkis ) mile from Ms. Rydal’s house. She walks 0 mile
and rests on a bench. How much farther does Ms. Rydal have to
walk to reach the park? Draw a picture to show your thinking.

How can you find the difference? Use the fraction model to
represent the equation.

3 4 2
2. _— e cmmmm—— e
a 3. 3 6

1
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How can you find the difference? Use the number line to represent
the equation.
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wlum 4
NI—A ——
NN 4
Nlw 4

L l
; 1
3 4
3 3

Wi 4=

10. Error analysis Jackson has i- liter of water in his water bottle.
I~1-1e drinks some of the water during soccer practice. There is
2 liter of water left in his water bottle. He thinks he drank more

than half a liter. Do you think Jackson is correct? Draw a picture
to show your thinking.

3
11. Which representation shows 3~ %?

A. m B. f\
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19 Subtract Mixed Numbers Learn+Work Together 84
(1-9) 85

Joseph has a piece of plywood that is 4% feet long. He cuts off a

piece that is 2%feet long. How long is the remaining piece of plywood?
Explain your strategy.
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7. Arugis 9% feet long and 6% feet wide. How many feet longer
is the length than the width? Explain how you found your answer.
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8. Error Analysis Christy solved 3— - 2— = ? and got a solution

5
of 1§. How can you help Christy understand her solution is
not reasonable?

Jon mixes 1— cups of strawberries with some blueberries in a
bowl. There are 3— cups of fruit in the bowl. How many cups of
blueberries are in the bowl? Explain how you found your answer.
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Multiply a Fraction by a (1-7)

Whole Number (1-7)

What is the product? Complete the equation.

2 _ 1 2
1.3X§'—3X2X8 2.4)(5

1

=6x§ =

] e

8
What is the product? Complete the equation.

2 LJ 3% ‘
3. 2x§_ﬂx2x 4.3x6_ix3x.
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:7. Helen combines 5 bags of seeds to make bird food. Each bag

3
contains 7 pound. How many pounds of bird food will she have?
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What is the product? Complete the equation.

|

1. 3x2%=3x‘2+£| 2 4x3——4x‘3+—

L)

(4x3)+l4x
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" 7. STEM Connection Saffron uses 3% cups of flou

to bake a loaf of bread. How much flour does sh
need to bake 5 loaves?
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